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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / RFfaf@a & & la @1 Fya T 2
1. Growth is only a mental process. / Jfg hadl UH AATHS URHAT T
2. Heredity doesn’t affect on learning process. / 3fefaifRrehe 31farar ufhar @t garfad &l e

3. Development is only a quantitative process. / I dhdel T HAFICHSD UlhaT &l
4. Learning is a process of behavioral changes. / 39T caagiRes uRadar &1 giear g

Correct Answer :-

« Learning is a process of behavioral changes. / 31ferd comaeiRes aRadar &1 uftear &I

2) How many clinical scales were there in the original Minnesota Multiphasic Personality Inventory (MMPI)? / qA

A AT waIfad seaedl (TATAYENE) # fFder dafas dae 92
1. Nine / &t

2. Eleven / 7ORE
3.Ten/cH

4, Twelve / I_E

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / #l &1 w& ator &1 A=dwas Rguid 7@ §2
1. Proceed from known to unknown. / S| A1d I SRITd CARCIRS dedl %I

2. Proceed from simple to difficult. /ST T & Hid HT 3R T&dr %l

3. Proceed from complex to simple. / ST Sfeel & T T 3R T&aT &l

4. Proceed from concrete to abstract. / S Yl g q&A fr 3N Toar Bl

Correct Answer :-

« Proceed from complex to simple. / ST Sifeet & T & 30X dedT &l

4) Inclusive education is currently a strategy of education based on the based approach. / g#ATeft e ada=T A
IR TREHIT F YR W Raw A v R

1. Sympathy / HerHfd
2. Charity / &=
3. Apathy / 3<q NIER



4. Rights / 3TARR

Correct Answer :-

. Rights / 3fIHR

5) Gender Schema theory was introduced by . / T ThaAT (SisT FhraT) Rgene & garT
&I R = |

1. Jean Piaget / SfieT s

2. Kohlberg / aﬁ%ﬂm‘r
3. Erikson / TR&g=T
4. Sandra Bem / 1=|'I$T a7

Correct Answer :-

« Sandra Bem / QTIET P

6) According to Vygotsky’s theory, the most suitable instruction to support social learning is ./ IS & R &
IR, FEATAF HAIH F Fada F & AT gad sugea e gl

1. curriculum / UT&dshH
2. students work together on the task / ST &Y WX T AT HIHA AT &
3. students’ individual work / BT3T & ITHIT PR

4. traditional teaching / TRUR® Trafor

Correct Answer :-

« students work together on the task / ST FT W TFH AT HEH A o

7) What are tests that rely heavily on language based reasoning called? /

T qleTor FAT FEard § S 6T IR ahAFT W AR §2
1. Accuracy tests /TRRUEAT TIETOT

2. Culture fair tests / '\qﬁ‘?ﬁ IRl TreTor

3. Verbal tests / FIT& TLI&TOT

4. Nonverbal tests / TTchfcieh TI&TOT

Correct Answer :-

« Verbal tests / A& Tdieyor

8) What aspect of personality makes a child more likely to be outgoing? /

wfdca & B ugq @ To9 & ez (Farie) gt it werraen 9¢ Tl 87
1. Extraversion / af%?i@m
2. Introversion / HHBQ'EIHT



3. Socialisation / FHTSHHIOT
4. Neuroticism / ngﬁ?{%

Correct Answer :-

« Extraversion / Eﬂ?-?i@?ﬂ

9) Bandura’s 4 principles of social learning are: / WTATISI® AfIH & 930 F 4 AT 30 TR &
1. Metacognition, Attention, Engagement, Motivation/ FeTRITaRE, I, S EICH oRom

2. Retention, Cognition, Attention, Motivation/ gfduroT, 3-1@’9@, &I, OO

3. Attention, Retention, Reproduction, Motivation/ €JT<, ‘;Iﬁ‘?IITUT, Uoldd, ROt

4. Attention, Engagement, Collaboration, Motivation/ &4, J&Id, W, oRon

Correct Answer :-

 Attention, Retention, Reproduction, Motivation/ €T, gfauRoT, Ui, oo

10) Adolescences form their own image and integrate their own ideas as to how they wish to be referred to, this is S/fFART 3=t
I # B g § AR I T F ARl # vhiga wd § F 3 R v Wit @ awa € a8 Fearan

1. Crisis / d#c

2. Ego identity / 3% ugdr
3. Ego ideal /318 3Tesl

4. Ego / 3®

Correct Answer :-

+ Egoidentity / 37& ugdrd

11) At what age does the child learn to control the expression of emotions? / HTa=3T $r FfNTFT F AT F= a1 Fw
g # drear 2

1. Adolescence / foRQTRTaET
2. Birth to two years / STed & & a¥ dd
3. Late childhood / T drearasr

4. Early childhood / URTH® drearae

Correct Answer :-
« Early childhood / TRTH® areamaear

12) Which of the following theories acts as a bridge between behavioral and cognitive learning theories? / RFfaf@d & ¥ wla- ar
RiquTea e 3 HTeHe rftrare Rgeial 3 v v A 1 F1H FaT 8

1. Humanistic theory / HATAIATd 3 (%{Hﬁm) JgTed
2. Cognitive development theory / TTATCHD faehTd fAgled
3. Social learning theory / AT AT Rgied



4, Existential theory / 3TTecdcd Ragled

Correct Answer :-

« Social learning theory / TTaTToIeh 31TAT RAg=d

13) Which of these statements is true with regard to aptitude and competence? / s?m' ¥ ®la-a1 Fya Aegar A a7 F G@Ey
# wew &2

1. Aptitude is an inborn potential to do something. / & B & T JTAAT Teh STedAd HHTIA (PTIETHAT) B
2. An aptitude is a developed knowledge. / 9IT Tdh fawfad = &1
3. A competence is a part of an aptitude. / 87T Th AT &I Th Beam

4. A competence is an inborn potential to do something. / $ A & AT &THAT T SiedASd THTTAT (FIIGTHAT) B

Correct Answer :-
« Aptitude is an inborn potential to do something. / & P & AT AT Th FedATd HHIAT (PTIETHAT) T

14) Which chart shows that the highest return of investment in education is maximum during the early years? / SlI-8T 3@ gaifdr
¢ & qaneh avt & ke Rram & e &1 Reat aftwas &2

1. Heckman’s / %_nh_ﬁ?—r

2. Wisconsin’s/ TaEepiieaea
3. Hurlock’s /RT*I'T?-F

4. Puberty’s / taeTar

Correct Answer :-

. Heckman’s/%ﬂv_ﬁa’

15) Who introduced the term 1.Q. (Intelligence Quotient)? / &&= 3!1?3"’{\ (gaﬂ' 3qeretrdn) gg # gfquifea fFar?
1. Terman / &3

2. Galton / Jteea

3. Binet / e

4. Guilford / frewis

Correct Answer :-

e Terman / &&=

16) The psychologist who discovered that children’s perception of reality is not learned from adults but is constructed is: / 9§
AR SHa 9ar e % a=ui & aEdRedr 1 gRom agTH ¥ Ag e A &, AT saer AAr R SEar #
Cl S

1. Jean Piaget / SfieT TUame

2. BF Skinner / &l U% f&he¥

3. Arnold Gesell / 3fTes T 8e
4. Howard Gardner / ﬁﬂ'lé' BIEGEY



Correct Answer :-

« Jean Piaget / Sl fOamat

17) During which stage do children start reasoning? / fF¥ 3raTdT & Ted dF FT AE a &2
1. Adolescence / fRRIRTeEAT

2. Late Childhood / 3@X dTedraeyr

3. Infancy / QeramaEam

4. Early Childhood / @ aTeamasdr

Correct Answer :-

o Late Childhood / 37X dTcITdEAT

18) Teachers should take a/an rather than group perspectives when considering diversity in the

classroom. / ®aTT # RAfYuar W IR &a 98747, ﬁﬁﬁw#%%mw
¥ TieFIor F e @ AR

1. Group factor / HHg DRH
2. Opinion / 31f&&T
3. Student / &I

4. Individual / SITHITT

Correct Answer :-

« Individual / SITHITT

19) Which of the following is not an aspect of metacognition? / fFaferfad # @ 71 Gdhad (HerdrHIRE)
&1 U Uee 1ol o2

1. Altering consciousness/Jclell H Tl

2. Revising cognitive strategies /Tl I0TATAAT bl FAMRAT AT

3. Planning cognitive strategies / HeTATcHD IUTATIAT Y TSTAT TATAT

4. Monitoring cognitive strategies / HellAlcHD I0TATAAT Y FAIRTAT AT

Correct Answer :-

« Altering consciousness/ddall H ST

20) Which of the following is not true about the teaching process? / fFrafafea o Rieror uftear & ar & @
I Tl 82

1. Teaching is the process with a purpose to bring about learning. / TI&TOT Uk 3297 o T 37T T UfehaT &
2. Teaching does not sway the whole process of learning. / fﬂmﬁmaﬁf@mﬂﬁ@?ﬁﬁl

3. Teaching does not need a formal set-up. / %W%WWW@MQW@%I

4. Teaching should be centred around student. / RI&0T ST & 3MY-UTY dfed gIHT 1T



Correct Answer :-

« Teaching does not need a formal set-up. / fR1&70T & ferw 3iiu=ies gfaame &1 sragerdr A8

21) Which of the following does not apply to the brainstorming process? / Frafafea # @ sar fEr faust

vihan & ferg wmy -7é grar 82

1. Generation of unusual ideas. / 3THHTT ARt &7 Joi-|

2. Criticism of ideas. /ﬁﬂﬁ CafINIERI

3. Associating different ideas to come up with a new one. / T & 1Y 3 & fore fafte foaRy &t \‘rﬁ@_’FITI
4. Quantity is more important than quality. / 0TI Pl KL o AT i W %’I

Correct Answer :-

« Criticism of ideas. / fa=RY 1 3MTa=HT

22) According to Martin and Halverson, when young children observed gender inconsistent behavior, they tend to have:
| wifEe R PEEEA F AR, I B qodl A AT F 3T IR FT @S 6, A 3 I8 g o
1. A distortion of memory/ ¥Hfd @I fapfa

2. An accurate memory / Ueh HEldh Ffd

3. A rejection of the behavior/ TIdeR T 3rEdpia

4. An imitation of the behavior/ SITgR &I ol

Correct Answer :-

« A distortion of memory/ THfa &1 fapfa

23) What problem do children with anorexia nervosa typically have? /TARTFEAT dAafam & AT T=at 1 RAfse v F
FUT FAEAT gt 82

1. Problems with impulse control / 3T fATAT & ATT FALATT
2. Problems with body image /R UTdHAT & AT FATATT
3. Reduced physical exercise / @ URIND ATATH

4. Excessive eating / 3cTTAd HISTd e

Correct Answer :-
« Problems with body image /R UTAAT & AT FHAEATT

24) What is more likely to help a child remember a story by Tagore? / & GarT TH FEEAT Y I @ H TTT A
AGE HI T AHTAF HHGAT FAT §?

1. The moral of the story / &gl @1 Afdd
2. The size of the story / &gl &7 AR
3. The font of the letters / 31&RT &I Hiee

4. The colour of the title /2NYep T TIT



Correct Answer :-

« The moral of the story / @l &1 Afdd

25) Eliminating caffeine and sugar from diet before bedtime ensures - / Y ¥ ggel 3ER ¥ HhaT 3k A & geT
FAT 3 AT Far &

1. Reduction in stress / deltd H HaAT

2. Good functions of muscles / FFURAT & E]%FR' U

3. Good sleep / TSI =ig

4, Good absorption of nutrients / UT¥es dcal T 3BT AT

Correct Answer :-

+ Good sleep / 3BT g

26) How information is typically stored in semantic memory? / 3[H TR R 3rfra F[ﬁf (Rrafes aadh) #
TFPRI A UL gl 872

1. Networks/ a_c',a?ﬁ'
2. Skills/ @piereT
3. Tasks /eprat

4. Groups /FDET

Correct Answer :-

o Networks/ Acddt

27) Mild retardation is a category of mental retardation having an IQ of . /1 9g Tedl AH® dedr

@1 ot ¢ fored BT A AT 5|
1.70t089/70 & 89 d®

2.20t029/20 ¥ 29 dh

3.50t0 69 /50 ¥ 69 ek

4.30t049 /30 & 49 dd

Correct Answer :-

« 50t069/50 ¥ 69 d&

28) To improve the problem solving skills in children, which of the following things can be done?/ Tl

o JuEsil B A F Hive § GUR H1 & g, Fufaf@a & S i fear s e 32

1. All of the above / 3URTH GHT

2. Invite children to talk or write about ideas only / hdel faaRT & IR F a1d T a7 for@ar & fow gTar & AR
Gy

3. Ask children to draw pictures for stories only / I=di ¥ $hdd Helfdl & forv T I P Hgl



4. Use blocks and models only / el solfeh 3R ATSST FT ZUATT HY|

Correct Answer :-

« All of the above / StRIh T

29) Inclusive education means: / JHIATN &M &1 31 §:

1. Education for all children in school. / @@ & Tyt s=af & forg fRrerm| qomah e &1 of §:
2. Education of intelligent children. / §fsH™ = @ fRrem|

3. Education of the poor children / RIS sr=df &t e

4. Education of the minorities / 3TcUXRaTdhT b1 e

Correct Answer :-

. Education for all children in school. / pa & 1t a=at & e fRrem | gwmasht Rren o1 o g

30) GAD stands for: / STug} &7 33 g

1. Genetic Anxiety Disease / 3ieJd1Ieh f=idT a1 (SATed Tamsdr )

2. Genetic Anxiety Disorder / 3MTdfRIe fRidl fadwR (SRfew Tomed fEwaiisy)

3. Generalized Anxiety Disorder / ATAEAGd [RaT fAeR (SaRemsss Tomsdr BEaiE)
4. Generalized Anxiety Disease / HTHGA T AT (STeRFos Tonser 3d=)

Correct Answer :-

« Generalized Anxiety Disorder / @TTAIpd RIdT PR (SeEes Tosd! BE3E)

Topic:- General Sanskrit(L1GS)
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Correct Answer :-
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4d: |

Correct Answer :-

12

'y a2 T i & ?
1. L |
g |
S|

Correct Answer :-

¥ |

13) . 5\ . >
UTILT: HERATCHY faqueh: 5T a=ed sifAeT & -
1. |




, au |

Correct Answer :-

:
2. 6
3. 9
4. 12

RS 98 Fagd —
. AN |



. +31d: 9id |
| %M i |
| =T S |
, A Ui |
Correct Answer :

_ 3ME vid |

18) LY ™ & [I
ReH I 92 = -
| HeSHCEH |
. -~ C
EEZICRIEEY
2.
3. - |
, IR |
Correct Answer :-

g |




, e |
Correct Answer :-

ST ST



Correct Answer :-
hl: |
e

22)

‘H{qA o9 [Yald’ SART T ‘T Tege ToHih: &l 2

T |

1
-

AT YFHT |

2.
gt |

3.
4, |
Correct Answer :-

T |

23) - -~ . ™ [
"SRR TNGLTINSEH el TERT F: Jeh: ?

1. :

2. i :

) Terarawtiia’ we e ?
. CIRIF



25)
a1 T g FareA™d:, SAR181 e8! Fic8:” Sid Tl FEeaTH IqHG T34 ?

D e S Y

1.
s A N Y
2.
S S a8
3.5[ '
S S 8
4.!

Correct Answer :-

hal ¥ A S ¥



| I A
, 1% T |
TGO T |

, U A |

Correct Answer :-

29) s
& A -
| 7 HicsH |

41 Hife

; ATl |
.

, 11 ATl |

Correct Answer :-

1 HTic5HT |



RTEE 3 -
| HETHEH |
, |

, IERH |

, TR

Correct Answer :-

TR |

Topic:- General Hindi(L2GH)

1) g3 IR AT & a9 W FY I a9 Hiwor AR Y A & e wwd 3R wear F @rr g @ aifgel Sw
aF Y| 7¢ g, a9 9% HRaaY § feE-ufa Ted '

B o A9 99 99RO, 38 YER 4 A H1GAT F 39 AT F Foa| 93 3R S, 7T

& @ FT WY B, ACHT B YU T IR I o F WU @l 9 R qem F off, el quy safFa fr wareerar &
BT T TR FT AU 7 G| HIH AF GR, 3H A N 4F AT AW IR g@ F AG 4R, FT

a B ot F A el F THU o F T FE off T T @ I R e & AW A

at 39FT 3W YHR F FF U A FErelaar & ey aHwsm Ir| o fr w@reflaar F v S 3 \
TF ot frwide, ada qu o1, O Ra, wlaar & &7 #, @erea, geon, Aafdt ik gwfomdt & woer R s
HTEIF FAAT AT TF YR & 37 Rl g Taeliaar & & &, v FeH NS gerd? @ U7l 39 3 919 &1 FF 30T
gH s 93 T Bl & Y wataar & waner @ F Al sreger al 3R oA # quw F @ gEy w9 A qur f,
3o Mt afFaemelt Far oo 3R R 5w F FT G IF I 50 qHT, gAR gt @ @ wor§ s IR gAn-@ At
# afFaar g o3 3@ & et § 3K Aor A AoEd gwrays, yow AR 3eAd w1 U Tyl = @

3YYFT A Y TgHT AT I AT JooT FT 3 qaABA:

WA- TG A A AWF JAaiaAt F HFEd w&AT F0 @I 82
1. el AR P Tt

2. Fael g ITUIRT TN

3. hael GIfdAd PHeeXdT BN HAAD T

4. 30 |

Correct Answer :-

o SRH Tt

2) ¥ 3R $HM & T R f$A H 919 39 v AR F AP & 1T qre iR Tedr F 1Y SEURT 8141 IR | o 9% 9T T8 g1, a9
TP YRAdY # FIeg-ufd 9gd S a1d 18 & | 817 | o &1 U1 & ARt & ®1g WY Torae 9 811 Ry 19 O/ uaR =918, 331 R o
P YT BT 30 7 B | f R UM, 11 1 el 8, IR 3R el & 9 371 JdY 7Y, SATHT B Y A 3R S IS BT /e
g1 a8 foreft o= & of, feft g e 3t Torderan & S99 o1 pae &1 91es 9 991 STUST T AR, S ORE BT Y 319 A SR gk BT
A 918, 39 YR BT ¥ a8 A | &Y =T 4l & |- aTell & T o & g @18 WY =i 7 811 afe i o & A are $8) sTavawi
T 3rSTd Y, A TP 39 UPR $T 1 o P W1 & g Ta=m oy | 31 Ft warehi=ar & forg sit S fvan s vet o1, 391 8 foT
f:%idg, orcia 1 U, o7 A, warefi=an & &= #, f@are, gean, dafaat ok awfaraf 1 wir= foar wHT snaxas He 1| U6 IR I
39 foT g9 w@rdiaar & & #, T ®er 119 gere 3T UT| 3 I UTY &1 B 3Tl g1 HITHT TS T8T 81 o &) Tanei=ar & Tum &t 3
AT fegal IRT 3R ABRAR B S F AHA gaR F9 A U1 fora, I oiftres wifdasmeft s R sk saR s s s A gg gan s i



T 9HY, THR ST 31 9 918 S9! 3R SH%-4 @l &1 MfRmal gHR) Sie @S A ol € ofiR ¢ # Aeiga] YNy, Uud 3R IUrd &1
I WU PR 7S &

ITad T B UGHR 1Y YR T UY BT SO Iq153:

U= U IR & SRR 3=T $t WaTiTa1 & fo1e wam q1es 42
1. Fad gF A TSAS

2. pad HAsTgdl URTIUA

3. hael GIfHAS HeeIdn

4. 30D |

Correct Answer :-

o SIRIh T

3) o 3R SHE & 9 W R WA ara 39 v SruR ) AP & A Aed 3R TEdr & J1Y SN g1 IR | W9 ae T T8} g, 99
TP HRAaY A -l 9gd 9 a1 S1e &0 9 811 9 31 U1 & 971 § #1g o Th1ae 9 81| e 19 9 voR 9’, 3 uer o
B WIS B 30 7 omra | o 3R A, A 1 Hier 8, 4R 3R AT & e BT HaY g, SATHT B Yeg DA 3R FA IS BT WY
g1 98 feft a=m ® oft, flt ger safaa @t Trdiean & S99 a1 Faas &1 \1Y= 9 991 ATYHT T4 978, I e BT 9 17 A SR gok &1
A A8, 39 UBR BT 4¥ a8 A | &Y =T ol & A= arelf & T o1 & i &g WY R 9 811 afe [t o & 7 ard S8 saawi
I ST B, o) ST 59 PR &1 BTd 3 B W & 9o A S| ¢ $t Wreh=ar P fore st e fovam i 381 1, 39T 98 &
f:%idg, orcda 1 U, o A, warefiqar & &= ®, f@area, gean, Mafaat ok aufaraf $t wir= far s snaxas wg 17| Te TR 3
I 3 g9 wWrhear & &9 #, U $ad U1 geTd? I@T UTI 3UA 3T UTY &7 B 31T g6 YT US 6T o1 U 3 wWrdaar & §ua & 3
HIATT 3egal IIRT 3R ABRAR B G F AHA gOR FU A U1 fova, I iftes wifaasmedt s iR siRguR s s ST A gg gon s fv
wwm,mgg%msﬂaﬁaﬁ?gﬂ%—ﬁﬁﬁﬂﬂﬂ%ﬁgﬂﬁﬁgmﬁﬁwﬁ%aﬁv%ﬂﬁmmqﬂ,maﬁ?mm
I RATT HR [

IUYad T B TGP 1Y YR T UY BT SO G153
- U TR B ASigdl URTau | R/ ared 8?2
1. ASTATh eIl

2.5 § PI$ A

3. OIfdAes Heexdr

4. GIATTSS Beeldl

Correct Answer :-

. uifdied deean

4) y¥f R $HF F T R 5 9H ard 39 W90 AR B A6 & Y qrew 3R a1 S 1Y I FH1 1T | S ab THT 781 gRI, 99
TP YRAGY # Freg-ufd 9gd S 919 3R & | 81| 9 &1 U1 & ARt & ®1g WY Torae 7 81 SRy 17 S/ uoR 918, 33 v o+
BT UG B 30 71 A S| o 3R SHF, T BT W1 8, SR 3R ST & g T HeH 7Y, AT Bl Y B AR HY I8 BT A1
B ag foreft o= & off, fpeft g afe 3t Trdherar & S99 a1 Fae &1 91eE 9 991 SATUST T AR, 9 OvE BT Y 39 A SR gk BT
{9 918, 39 UPR &1 94 98 AM | & fH=1 4T & A4 91al & od?1 o4 & forg 1 +ff == 1 811 afe frelt o & AreA are p8f Savew
20T ST B, ) ST 59 UPR &1 B 3 B W1 & a5 TH= 9| ¢31 $1 Wareh=ar & forg s e fopan i 871 o1, 39T 98 faq
f:ide, srcda g1 41, oy A, wardi=an & & ¥, Raere, gean, Wafaal siv ewiamal 1 I f3ar SFT Srawae THeT [T U6 R
39 foT g9 Wihiaar & & #, T ®oH 119 gerd 3T UT| 39 I UTY &1 e 3Tl g1 HITHT TS T8T &1 o &) Tarehi=ar & Sum &t 3
AT fegal IIRT 3R AHRArd B S F AHA gOR F9 H U1 fva, 32 oiftres wifcasmelt s R sk suR s s ST A gg gan 2 i
svw,swﬁglg%"rﬁaaégaaﬁaﬁ?gﬂ%—ﬁ@ﬁ&ﬁﬂ%ﬁgﬂﬁﬁgw@ﬁwﬂﬁsﬁv%ﬂﬁmmﬂmﬁ,uﬁaeﬁvs‘cqmw
I R B I

IURT TR DI UgHR A9 IR T ¥Y $T 3R TaIgd:
A BT gatgarh 8 8-

1. FoTed

2. YT AT

3. HUH



4. P

Correct Answer :-

5) i 3R SHH & 9 W 5 oF a1a 39 ivor SR ) AP F R A8 R Tedr & 1Y SN g1 ST | W9 9% T A8} 81, 99
TP YRATY # FIeg-ufd 9gd S 91d 3R & A 81| 9 1 U1 & ARt & ®1g W} TPrace 7 81 Ry 77 (9 UoR 918, 39 yar o+
B HIGAT BT 30 79 § A | 4 SiR S, 77 $T 6T 81, SR SR ST & 9 3T HY §), ST I Y& P 3R SF IsH $T WY
g1 ag foreft a=m & off, el g e 3t Trderar & S99 a1 paea &1 A= 9 991 ATUHT T AR, 39 OvE BT Y 319 A 3R gk BT
T 918, 39 UBR BT 4 a8 A | &Y =T 4wl & HEA aref & T o1 & o @18 W w9 811 afe {5t o & 7 ard S8 slarei
20T ST &, & ST 59 UPR &1 BT 3 B W1 & v Tre s | 331 $1 w@reh=ar & fore s e foran i 81 41, 39T 98 &
fA:3idg, orcda 1 U, oy A, warefiqar & &= ®, f@are, gean, Mafaat ok vufarf ot wir= far s snaxas wwgn T T TR 3
39 fo g9 Wihaa1 & &9 #, T FoH 110 gerdy 3T UT| 39 I UTY &1 e 3Tl g1 HITHT TS 8T &1 o &) TWrehi=ar & SuA &t 3
T Segd IR SR APRrard Bl 3 F AT g U F U7 o, I 3iflres fera=imeft a1 fam ok Ul 39 &0 H1 wa ag gan & i
sww,swﬁglgg’r%aaésqﬂ%aﬁvﬁ-ﬁﬁﬁaﬁaﬂ%ﬁsﬂmmﬁﬂwﬁ%’aﬁ?%ﬂﬂmw,maﬁ?aﬂmm
I R B I

ST TR Y UHR T I T Y $T IR A5
U- 4 3R a3 "rdepar F forg s @2

1. TSN e &Y

2.5d AR o=

3. 3Afas e dr

4. |red 3R Tedr &

Correct Answer :-

o Oed 3R Tedr &

6) o 3R A F W W fFY oM 919l 39 90 TR B e F T I8 3R TEdT S [ SUNT EH1 A1eT | S a THT ) g, 99
TP YRAqY # FIeg-ufd 9gd S a1d 1S & | 81| 9 &1 U1 & ARt § &1 WY Iorae 7 811 Ry 19 O/ uaR =918, 331 R o
Pt YTGHT BT 30 A1 & S| 4 3R SHH, T BT HiaT 81, SYR 3N AT & o1 &1 WG B, AT B Yog B 3R S IS P A1eH
g1 95 fpelt qum & oft, feht ger safea &Y Trdear & S99 a1 paan &1 \1UE 9 991 IS T4 978, I d¥e BT 9 17 A SR guk &1
A 918, 39 UK BT ¥¥ a8 A | &Y =T 4l & A=+ arelf & T o & g &g WY =i 9 811 afe i o & 7 a1e $8) savawi
T 3rSTd Y, T TP 59 UPR $T 1 o Pt W1 & [vg Ta=m oy | 31 Ft warehi=ar & forg sit 3= fran s ver o1, 391 a8 foT
f:%idg, orcda 1 U, oy A, warefiqan & &= ®, f@are, gean, Mafaal ok anfaraf 1 wir= fear 9HT snaxas HeE 17| U6 IR I
39 e g wrdiaar & & #, T ®en 119 gere 3T UT| 3 I T &1 B 31T g1 HITHT TS T8T &1 o Y Tarei=ar & Tum & 3
HITTT 3regel AT Y APTErd i 3 F WA g w0 A U1 v, I ol kel a1 fQan sik s s s ST @ g g B b
swrm,maﬁgﬁaﬁs‘s‘—ﬁﬁeﬁ?gﬂﬂ?—ﬁﬁﬁﬂﬁﬂ%ﬁgﬂﬁﬁga@wﬁﬁwﬁﬁsﬁv%wﬁmﬁw,maﬁvmm
I RITT H T B

I T B UGB 12 I T UY BT IR I3
TH- 3 H YU, SUTd BT o9 S RMUT HIIE 3 ?
1. 300D a

2. uTfde FHeexdmay

3. TNY-AU Tatelifart

4, AATTSE HeeIdTarsy

Correct Answer :-

. uifdies Feexdma

7) o+ 3R A F T R 5 oM e 39 v ITUR $Y e F R 918 3R TEdT & 91y SUNT g1 I1eT | S a ST ) g, 99
TP YRAAY # FIeg-ufd 9gd S 91d IS & | 817 | 9 &1 U1 & ARt § &1 WY Torae 7 811 Ry 19 o/ uaR =918, 33 R o
P YTGHT BT 30 A1 & S| 4 3R UM, T BT el 81, SYR 3R AT & 19 &1 WG B, AT B Yog B 3R S Io™ P A1eH



g1 98 feft a=m & off, felt ger safea @t Trdiean & S99 a1 paan &1 |1U= 9 991 IS T4 978, I ave BT 9 1y A iR gulk &1
A 918, 39 UBR BT 4¥ a8 A | &Y =T ol & A== arell & T o1 & i &g W R 7 811 afe i o & 7 ard P81 s
21T ST B, ) ST 59 Wb R 1 BTd 3 B W & favg AN 91| ¢ ®t TWih=ar P fore st I fomam <1 381 o1, 39T 98 &
f:%idg, orcda 1 U, oy A, warefiqar & &= ®, f@area, gear, Mafaat ok aufaraf St wir= fur w1 snaxas aHE 17| U6 IR I
39 o g TrheaT & & #, TP PoH U1 garde I@T 4TI U4 3T UTY &7 B 31 §F HIHT US 38T 21 oF 3t wWidhear & §uH € 3
HITTT 3regel AT X APrard i 3 P WA g w0 A U1 v, I aiftre kel a1 e sik s s s ST pa g g B b
wm,ms:g%ﬁﬁmsﬂaﬁaﬁ?gﬂ%—ﬁﬁﬁﬂﬂﬂ%ﬁgﬂﬁmmﬁﬁmﬁ%eﬁv%ﬂﬁmw,meﬁvmm
I RATT H [

SUYE T B UgHT A U T UY BT IR 9a1gd:

- 3% BT Wi F &7 # s s34 9 59 TP Hed U 99 Te?
1. TSTATeh FEASTT

2. UTfded TEasy

3. 3fd% FEdaT

4. HIATSS TEAT

Correct Answer :-

. i gEaeg

8) f 3R $HH & 9 W fFd oM ard 39 1o AR &) Ae1 F T Aed R Tedr & A1 I ST A1e¢| 59 9 U7 81 gh, a9
TP HRAaY A -l 9g¢d 99 a1d SIS ®H 7 81| 9 $1 STHAT & 971 § B o+ Toh1ae 9 81| fSorae 17 o9 voR 9R, 3 uer o«
Pt YTGHT BT 30 A & A | 4 3R UM, T BT Wil 81, SYR 3R AT & 19 &1 WY B, AT B Yog B 3R S Io™ BT A1eH
g1 9% fpult q=m & oft, faelt ger safea &t Trdiear & S99 a1 paan &1 |1U= 9 991 IS T4 178, I aXe BT 9 Ty A SR guk &1
A 918, 39 UBR BT 4 a8 A | &Y =T 4l & |- arelf & T o1 & g @18 WY R 9 811 afe i o & 7 ard $8) stavawi
T 3rTd Y, ) ITPT 39 UPR P11 o T W1 & [vg To=m oy | 31 Ft warehi=ar & forg sit S foran s veT o1, 391 a8 fo=
fA:%idg, orcia 1 U, oy A, warefi=an & &= ®, f@are, gean, Mafaal ok anfaraf 1 wi= far 9HT snaxas HE 47| U6 UaR I
39 o g Thear & &9 #, TP PoH U1 gard? IG@T 4TI U 31 UTY &7 Be 31 §F HIHT TS 38T 21 &% 3t wWidhear & §uH & 3
T 3fegal IIRT 3R ABRAR B G F AHA gaR FU A U1 fva, I oiftres wifasmeft s sk suR s s s wa gg gan s fs
wm,mslggﬁmsﬂaﬁeﬁ?gﬂ%—ﬁaﬁaﬁmmmmﬁﬁwﬁ%aﬁv%wﬁmw,maﬁvmm
I RITT H [

I T B UGB 12 U T UY BT IO I3
- 9IS SIS’ ¥ F1 arewd 82

1. GHA A€ P &l

2. ST&aT

3. anfeer

4, ST

Correct Answer :-

9) ¥ 3R A & AW W fFA 9 91a 39 Wiy TR F1 A1 F T 18w 3R Tga1 & AU I 811 AL oId aF THT 6} e, a9
TP YRATY # FIeg-ufd 9gd & 91d AR & A 81| 9 @1 U1 & ARt & ®1g W} Torace 7 8| Ry 77 (9 R 91, 339 var o+
B HIGAT BT 30 79 § A | ¥ SiR A, 77 $T 6T 8, SR SR ST & T 3T HY §), ST I Y& P 3R SF Is™ $T /1Y
B a8 forelt g=m & off, fpeft g =S 3t Trdherar & S99 a1 Faea &1 A= 9 991 ATUST T AR, 39 OvE BT Y 39 A SR g BT
T 918, 39 UBR BT 4¥ ag A | &Y =T 4wl & HEA aref & T o1 & o &g W w9 811 afe {5t o & 7 ard o) slarei
20T ST &, & ST 59 UPR &1 BT 3 B W1 & v THe s | 31 91 w@reh=ar & fore s e foran i 81 1, 39T 98 &
fA:3idg, orcda 1 U, oy A, warefiqar & &= ®, farea, gean, Mafaat ok aufaraf 1 wir= far s snaxas wwgn T U UeR 3
39 fo g9 Wih=a1 & & #, T oA 11D gerd 3T UT| 39 I UTY 1 e 31T g1 HITHT TS 8T &1 o &) Wrehi=ar & SumA &t 3
T Sfegd TR SR APRrard Bl 3 F AT g U F U7 o, I 3ifires fera=imeft a1 o ok U 39 S H1wa ag gan & i
sﬂw,swﬁsggg’r%aﬁésmﬁﬁﬁ%—ﬁﬁﬂﬁﬂ%ﬁgﬂﬁﬁgmﬁﬁwﬁ%aﬁ?%wﬂmw,maﬁ?mm
I RTT B I

SUYE TR B UgHR ) T T Uy BT IR 9a1g:



WA~ eI e’ | areqd 3-
1. T o9 X FRTer

2. e STTem

3. STeRGET P

4, &PIdC STeled

Correct Answer :-

e &AhIAC Slelcd

10) ¥ 3R UM F T R fHA F a1 39 Wiuvr AR S AP F e Ae R Tedr F 1Y IURT 141 U] e 9% 9T T8} g,
q9 I URdaY # FI-ufd 9gd 1 a1d 312 &9 9 81| 9¥ &1 IuTHA1 & ART # Big WY Ip1ae 7 811 e 79 o9 yoR 918, St UeR
oo B UTGT BT U 7 A T | o 3R FHH, T BT Wl 7Y, SYR MR STHT & Fig BT Y g, T Bl Y FA 3R FA Io™ &1
1A gl g et g=n o oft, f5eht gor safaa 1 T & S99 a1 paan &1 T1eE T 991 ST 94 918, 39 9 31 o 3y A e
TR BT 18, I UBR &1 41 a8 7|1 ) i1 4ol & A arell & b1 9H & forg a1 of = = 8 afe sl end & arm ara wdt
SERGE] 27T 3STd 81, Al I7hT 39 UPR BT B4 S b TINdT & % THen SI1g | 31 )t wrefi=ar & fore S I fovar i weT o,
ITPT 98 fo F:%dg, orcda 1 oI, oy A, warefiqan & &= #, f@area, gear, dafaal ok vufaraf 1 wir= four s snaxas awgn
7| Th UPR 4 39 fe7 g0 W= & 871 §, T PeH NI gerd @7 Y11 30 I UTY &1 el 3ATST g1 HITHT U8 T8 81 S Bt
T & AT B A HIT Sreger I Y YA Bl I P WA gAY w0 A U S, I aifire wifrent ae faan ofk AR 3w
FTH BT B I8 T ¢ fh 39 T0, TR 310 €1 A 9318 39! 3R 377-3 ARl o) fdal s9RY s I@Te+ d @t § ok 3x1 o worgdt
YRTAYH, YO 3R IeUTd o1 59 RATT $3 I 81

I TR B UGB 12 I T UY BT IR I3
wRA- e A HiA Wl &2
1.8

2. 9[0T
3. Tl

4, gt

Correct Answer :-

11) rf 3R $HM ¥ T R 53 oM ardt 39 ivor SR &Y Aea & RIE J18d R Tad1 & 1Y SN g1 T1iee| ST 9% U1 781 g1,
TG 9P HIRAas § Fg-ufd ggd o ard 318 8 7 81111 4 Ft ST & 9nf # $1S oft $1ae 7 811 e 79 g vor =R, St ver
o Bt YTaT B 3= 7 & S| enf ok U, T o7 Hial g1, SR 3R T & 9 T TAY g, ST B Yo FIA SR A ISH BT
A1eA §Y 1 a8 el gz A oft, el gt aafaa Y wrediear & S99 a1 gaam &1 WY T 991 ST 3 918, 39 a8 BT o oy e iR
TR BT A 918, I UBR &1 4H 98 A1 &) T ol & A aral & a1 o & forg a1 ot = = gt afe st o & arm ara wdt
STERGEIT 21T ST Y, Al SPT 39 UPR BT B4 o B W1 & e awsn sma| 3 9t wrefi=ar & e it Iei forar =i w1 a1,
ITT 9 fo fA:3dg, orcdia 1 o1, o A, warefiqar & &= ®, farwa, geon, dafaat ok wufaraf 5t wir= fear s smaxas wwgn
T T YR A 39 {7 g0 Tardiaar & &5 #, T PeH T gerd 3T UT| 37 3T 1T BT Ba 37l g3 HITHT US 8T 81 3 3
Trefiar & I & A T g TR SR I F1 A F A g U B Uy R, 3 eiftre wifdaedt a9 fan ofk R 3w
HTH ST e TE I 2 I 39 T7Y, AR 141 €1 A 9¢1E 379! 3R 375-Q dRll Y WfRTal g9RY s S@re § ot € 3k 3w & wotedt
UNTETqH, WU 3R SeUTd BT T VTR B3 I8 B

UG TR Y UHR T IS T Y $T IR qAT5A:
T=H- JUMEAT H U 3 -

1.37

2.UE

3.3

4. 319

Correct Answer :-



12) ¥ 3R $HM & T R fHA o are 39 v AR S Ae & e ey R Tedar 1Y IURT 141 9| oid 9 9T T8} 8,
9 9% HIRAay # Ag-ufa g8 o ard 3A18 8 7 8111 v Ft ST & 9nf # F1S oft $o1ae 7 811 et 79 g vor =R, St ver
& B UTTAT BT U3 79 § SFA | e 3R A, 79 BT ST 8, TR 3R 31T & §iF BT IS §Y, 3ITHT B Y A 3R Hd IoM BT
1Y §Y 1 a8 el gz A oft, Rl gt aafaa Y wnediear & S99 a1 Faas &1 W1 T 991 ST |1 918, 39 @ BT o oy a iR
G BT 1 918, I YR F1 4 98 a1 ) i oot & a9 arell & et 9 & i 1 o w7 8 af et ond & area 9wy
STERGEI ST ST B, ot 7T 39 UPR BT B <X BI WEaT S fov THS SI1d | ¢ &) TWreh=ar & R st I far i 381 i,
I a8 o fF:vide, srcda g1 o1, oy A, T & & ¥, faerea, gewn, Wafaay siv el o v faan s srawas awsm
T T YR A 39 fo7 g0 Tardiaar & &3 #, T $eH T gerad 3T UT| 3 3T 1T BT B 371 g3 HITHT US 8T 81 3 P
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HTH ST T I 2 I 30 T7Y, AR 14l € @ 9¢18 379! 3R 375-Q @il @t WfRTal gaRY ST SEre § ot § 3k 4w § woredt
UNTE9, UUe 3R ScUTd b1 e RITUd $T gt &l

ITYRT T B UgHR 19 IR T UY $T 36X Targd:
- IR’ Weg 82

1. gfeelar

2. Efoir
3.5 § PI$ A
4. AGHBTIIT

Correct Answer :-

13) 4 3R T & 9 W fH oM arat 59 Yo SR &) Aea & I W18d X TedT & |1y SN g1 I1feT| 5 d 91 =781 g,
9 9% HIRAay # g-ufd g o ard 3A18 8 7 8111 4 $t ST & 9nf # F1S ot $o1ae 7 811 et 79 g vor =R, S tver
o Bt YTaTT B 3= 7 B a1 erf SR W, T B7 el g1, SR 3R 1T & 9 T Y T, ST B Yex FRA SR S ISH BT
1Y §Y 1 a8 el gz A o, feht gt aafaa Y wnediear & S99 a1 Faan &1 WY T 991 ST |1 918, I @ BT o oy A SR
TR F1 T 918, I UHR &1 41 98 A1 &) =T 4wl & A aral & w1 o & forg a1 ot = = g afe st o & arm ara w6t
STERGEIT 21T ST 8T, dl SPT 39 UPR & BT o= &1 W1 & e awsn sma | 31 3 wrefi=ar & e it Se farar =i we1 o,
I a8 oA fFvide, srcda o1 o1, oy A, T & & o, faerea, gean, Wafaay siv el o wa faan s srawae qwsm
T T YR A 39 fo7 g0 Tardiaar & &3 #, T $eH T gerad 3T UT| 37 3T 1T BT B 37 3 HITHT US 8T 81 3 3
Trefirar & T & A HAE g IR SR W F1 A% F A g U B U, 39 eiftre wifdasmelt e faan ok R 3w
HTH ST B T I 2 I 30 T7Y, AR g1dl & @ 9¢1E 379! 3R 37$-Q dNll @t WfRTal g9RY ois SEre § ot § 3k 3w § woredt
T, YU 3R AT BT 17 VAT $ 61 21

JTYRT TR D) UgHR 19 IR T UY $T 3R Targd:
UH- Y § S-G9 I § ?
1. g AT

2. degey
3. PAURT

4. Igefe

Correct Answer :-

o TG

14) ¥¥ 3R M & T R fHA o a0 59 v AR S AP & e e R Tedr 1Y IURT §141 U] oid 9 9T 78} 8,
9 d% YRaay § F-ufa gd oM a1d 318 &4 7 8111 o &) Iurdr & anf § #iE o Iprae 7 811 et 79 o uoR 9, 3 ueR
o Bt YT B 3= 7 B S| e SR A, T o7 Hial g1, SR 3R T & 9 T Y T, ST B Yo FIA SR S ISH BT
|IYA g1 98 el g & off, fvl @R afad Y wareiear & S99 a1 gae &1 91eE 9 991 SIS 99 91, I A B 9 3Ty 7 SR
TR F1 9 918, I UBR &1 41 98 A1 &) T ol & A9 aral & et o & forg a1 ot = 9 gt afe st o & arm ara wdt
ARG ST ST BT, dl SPT 39 UPR & B4 o1 &1 W1 & e awsn sma | 31 3t wrefi=ar & fore it Iem farar =i we1 o,
IT@T 98 fe1 f:3dg, srcdia 1 o1, oy A, warefiqar & &= ®, f@arwa, gea, dafaat ok vutaraf 5t =i faar s snaxas wagn



T U9 YR A 39 fo g0 [ardiaar & &3 #, T $oH T gera 3T UT| 3 3T 1T BT B 3Tl g3 HITHT US 38T 81 3 P
AT & WU § A HAT Sege 18T SR YHRTard B 3% & HHA gaY U | U o, 3% ofte fdasiedt g f3an ofk gER 5
P F1 Bd T8 g1 ¢ 6 39 T0Y, gAR g1uf €1 A 9918 3991 3R 379%- AN F1 wfFaal g9 wis S@rs+ A @ift § 3k 3=1 & ueigdt
UNTE9, UUd 3R SUTd T Ieg RITfUd Y 7Et &l

IUE TR B UGB 12 U 7T UY BT IR I3
T "YU Xeg BT FAFTS e B-

1. 36l

2. W |

3. 37rer

4. TRV

Correct Answer :-

o 37Ter

15) ¥ 3R M & T R fHA o a1e 39 v AR S AF & e e R Ted 1Y IURT 141 U] oid 9 9T T8} g,
TG 9% HIRAay # g-ufa g4 o ard 3A18 8 7 8111 v Ft Sura1 & 9nf # FiS oft $o1ae 7 811 et 79 g vor =R, St ver
&} B UTGAT BT U 79 § SFA | e 3R A, 79 B7 ST 8, T4R 3R 3T & S BT I Fl, 3ITHT B Y A 3R Hd IoM BT
1Y §Y 1 a8 el gz A oft, el gt aafaa Y wanedivar & S99 a1 Faam &1 W1 T 991 TSt |1 918, 39 @ BT o oy A iR
G BT 1 918, I YR F1 4 98 a1 &) i oo & a9 arell & e 91 & R a1 o w7 8 aft et o & o 9 v
STERGKI ST ST 8, ot ST 39 UPR BT B <X &1 WEaT P oo THS SI1a | 31 &Y TWreh=ar & e st I f3ar i 381 i,
I a8 fo Fvide, srcda o1 o1, oy A, T & & ¥, fRaeea, gewn, Wafaay siv el o wI= faan s sravas qasm
T 9 YR A 39 o7 g0 Tardiaar & &3 #, T $oH T gerads 3T UT| 3 33T 1T BT B 316 3 HITHT US 8T 81 3 3
TATefT & AT € 3 WA Srege 9T 3R pRrErd Bl I b WA gAY U A 9 e, I arftres fskmiet e few sk s 5w
HTH BT B T8 3T ¢ fh 39 THY, TR 81U &1 A 9e1S 39! 3R 37h-4 @Rl 1 fckral s9RY ois I@Te § ft § ok 3w o worget
UNTEU, UUd 3R SUTd T e RITUd HI gt &

JTHT T DI gD A9 IR T UY $T 36X Targd:
TH- dE® o § 5 a1a Y Smndt #Y argen 82

1. el SUTHAT Y TSE

2. el TAR-UHR & 37TSIET

3. hdel GFATA &N TSATET

4. 3URAH FHY

Correct Answer :-

o 3R gl

16) 39 $ Fe I ATH I AR

vy Sft, g0 de g9 U, STt ST-3fT Ay [
WY Sft, U 99 99 gW WRI, 9 frqad 9 IoRTI

Y Sfl, g0 STue gH qTdl, et siifa &R f= et

Y Sit, gH il 89 YR, S TH1E fraa gegrmi

WY oft, g7 T g0 g, T WidT SR YoM

ITad U B UgHR A4 TP T Y PT SWR 9aT5d:
ue- P A 9 A I o1 waigard T8 8

1. HATforRT

2. rfRIGHT

3. e

4, Fifehen



Correct Answer :-

o erfrgsT

17) 39 H g¢ T A9 € anf

v SfY, g e &\ e, ST Ser-sfr A @
w3 Sff, G g 9 g7 AN, S Raad 95 g9
w3y S, G Qo g7 areh, S sifr 9 Rer
v SN, g A g7 umn, S W Braa gewm
wey SN, g wanl g arn, Ol sfFa wY Yemwm

YT TEIIRT Y YGHT A I AT WA FT IR TA3L:
TRA- AT Hel-39T AW WA H a HwOHF §7
L9

2. ard

3. oy

4. drdel

Correct Answer :-

18) I F¥ g TH 7AW € anh|

W Sft, A GG & TIell, ST JHaT-37er A WAL |
v S, @ 1 o g7 AN, S Raad 98 TR
vy Sft, g7 & g ardlt, Sy Sifer &t R e
wop Sft, & Al gw umm, A WA Baa gewm
we] SN, g wawh g arn, O sfFT HY Yer

3YYFA TSI FT TgHT A IS TT TR FT 3R qABA:
wool- ‘Rt # wATH 82

1. g5 A

2. 3cIAHET FAH

3. dcYEY HATH
4, PHURI TA™

Correct Answer :-

19) 39 F& T A A € ANNI

W Sft, A GG §A TIell, ST JaT-37e a WAL
W Sft, qH O o gH AN, S Ridaa 9g g@nm
v SN, g A g arch, S Sfar @Y e T
wop Sft, g7 Al gw umm, A WA Braa gewm
vey Sft, qF Tanh go g, Wl afFa wY Yerm

39YFA TSI FT TG A IS TT ToA FT 3R qABA:
WoT- ‘W H FERIr HeTaX FT N FAT §7

1. 3cTTAF YHeed Bl

2.9 # AW @R e



3. T I AR deer
4, AFAT HIGH BT

Correct Answer :-

o IR YHeed Bl

20) 3@ FX g TH aH € Al

W Sft, A WS §F Iedl, ST Jer-3far A @A
v S, g 1 o & AT, S Raad 98 TR
wop Sft, qH &9 gx ardll, Sy Sifer &t R e
w3y SfY, & A g umm, SRy Wl e geem
wop Sft, g wawdt g e, v sfFa ¥ Yemm

39YFA TSI FT TgHT A IS TT ToA FT 3R qATBA:

Wo- GEJd UiFaal # T F § S99 gFia aeg a9 §2
1. &rep-areht

2. UTeAT-HHATAT

3. ART-TDHRT

4. URTT-Feram

Correct Answer :-

o EIU&m-TTr

21) 39 FH g A TH © aEh

vy S, A oA &F e, SN Jer-3far A @A

v S, @ o 9 g7 AN, SN Raad 95 TR

vy S, g o g7 areh, S sifr oY Rer e

wop Sft, q& ANl g\ amn, SN W e gewm

ve] o, I F@r & gra, W wiEd S Yer
3UYFA TSI FT TgHT A T AT TR FT 3R qa@B4:
WeA- Yeqa UfFaat # oW wad @ fre-fea awgan & 3w & 82
1. el dTclr

2. theel YW

3. harel TTelT

4, 300 gt

Correct Answer :-

o 3 Tl

22) 39 FH g THA AH T aEh
w3y Sft, qH GG & TIell, ST JHar-37er A WA |

v S, @ 1 9 g7 AN, S Raad 98 g9
vy S, & Qo g\ areh, S sifr 9 R e
vy S, & AN g umm, S Wl e geem
we] SN, I Tl g arn, O sfFT S Yer

39YFA TSI FT TgHT A G TT TR FT 3R qaAB4:
woel- WEqa giFaal # Ffa & frw sraedr #1 aoiw R 2



138 A PS A
2. 579 ¥ BT Feldd @ ST &
3. 599 h W AP &1 10T °¢ ST ©

4. 519 Hh BT A6 Tdd @ S &

Correct Answer :-

. I HF W AR H QT 9 AT &

23) I FH g TH TH T aFh

Wy Sft, qH GG & TIell, SN JHaT-37er a WA |
v S, @ 1 9 g7 AN, S Raad 98 g9
vy S, g Qo g\ areh, S sifr @Y R e
vy S, g Al g umm, S WefE e gemm
we] SN, g Fawl g arn, O sfFT S Yer

3YYFA TSI FT TgHT A G TT ToA FT 3R qa@B4:

yeeT- S fFaal F frw yeR At sfFa-smaen fr afdeafEra g ¥2
L3H & g A

2. CrEg AT9

3. &g AT

4. FAYY A

Correct Answer :-

24) 39 FX g A A € A6

v SfY, g e & e, ST Ser-sfar A @
v Sft, IH O 9 gH AN, AW Rdad @ g
w3y SfY, G o g7 arel, S Sifar @ R e
vy Sft, T A g7 umm, S W Braa gewm
wop S, qFF Tanh g g, Wl sfFa wY Y

YT EIIRT Y YGHT A g AT WA FT IR TABA:
WS- FaeT AT §7?

1. gfedr

2. #ifelar

3.5 ¥ PIS A

4. 3HITT

Correct Answer :-

25) 39 HFF g TH AW € A6

v S, A Wee &/ e, ST Ser-3far A @A
v Sft, qH O 9 gH AN, W Rdaa @€ g
wop Sft, g7 & g T, SRy Sifer &t R e

2 9

S, g ARl g uren, A Wl e geem
St

)

, I ot gH g, v wiFa St e

-]



YT TEIRT B YGHT A g AT WA F IR TABA:
WoA- YA e H H : fFw aa Ay @ oo i 32
LA # 9 srea &

2. dea fawa &

3. Qe STellel

4, qH-ATH &I

Correct Answer :-
o JH-ATT &I

26) 39 HFF g TH A € AWM

v S, A =ea &/ e, ST Ser-3far A e
v Sft, qH O 9 gH AN, W Rdad @€ g
vy SN, g duF g arch, S Sfar @Y fee T
vy Sft, g A g7 umm, S Wl Braa gewm
wep S, wanh g g, Wl sfFa wY Yemm

3UYFA TSI FT GgHT A I AT TR FT 3R qAHL:
weeT - Yo frwd sfFa e 9w 82

1.3 ¥ fpey & a0

2. gre &t

3. a9 &1

4. TP &

Correct Answer :-
o A O forely fr FE

27) 39 F& T A A € aAnhl

W Sft, A GG §A TIell, ST JHaT-37e A WAL
W Sft, qH O o gH AN, S Raaa 9 g@n
v SN, g A g arch, S Sifa X e T
wey Sft, & A g e, SRy W e geem
wey S, qFF Tanl & g, Wl fFa Y Yewm

39YFA TSI FT TG A IS TT ToA FT 3R qABA:
wee- ‘Raad 9¢ THRr # FiT @ FAFR 82

1. 89

2. JAD

3. 30T

4. 3qUTH

Correct Answer :-

28) @ FX g TH A € A

v Sft, g WS §F e, SN Ser-3fr A @
v S, g 1 o & AT, S Raad 98 TR
w3y Sft, G o g7 arel, S Sifr o R e



A, g A g umm, ¥ Wae Frera geem
Sft, I Tanh g g, o sfFa w YEwm

YT TEIRT B YGHT A I AT WA FT IR TA3A:
w2 ‘QUE HT qAEaTd A€ §?

1. i

2.8

3. &

4. 989

&8

Correct Answer :-

29) 9 HFF g TH AW € AWM

v S, g Wea &/ e, ST Ser-3far A @A

v Sft, IH O 9 gH AN, AW Rdad @€ g

vy SN, g duF g arch, S Sifar @Y fee e

wop Sft, g& ANl gw amn, SN W e gewm

vs] oft, T F@r & g, W wiFd A Yer
3UYFA TSI FT TgHT A T AT T FT 3R qa@HL:
WeA- YA gS H AT AR o A Joren frer At @ 7@t fr w8 g2
1. &raeh-arelt

2. ASHI-TShT

3. I -Tel!

4. Frcr-4ram

Correct Answer :-

30) 39 F& T TH A T AEN

v N, A G g uelt, Sy JHar-3er ar WA
ve{ SN, qF ua & 4 AN, S Raad 95 awwT
wop Sft, qH &9 & archl, S Sifer &b fer are
wop S, g Al g e, S @ty Brea gewn
voy SfY, qF Tanlt g g, ¥ wfFa FY e

39T YGIIT FT IGH AN I AT JeT FT 3R IARA:
yed- S GRFadt & w@har #a #2

1.3eH

2. #

3. Jord
4, B

Correct Answer :-



Topic:- Social Science (SSC)

1) Who said that, “"The President occupies the same position as the King in the British Constitution”. / e Dol UT ﬁ?, ~fafewr
Wy # Pl AT F THH RIF TgU1 BT 31V

1. S. Radhakrishnan / TH. ITYTpOUT

2. Dr. B.R. Ambedkar / af. 3R, 3Fdsa

3. Dr. Rajendra Prasad / 3f. qeieg, UG

4. V. V. Giri / dr.dr. oIk

Correct Answer :-

« Dr. B.R. Ambedkar / 3f. f.37X. 31FdshT

2) Who was the ruler of Gujarat when Mahmud attacked Somnath Temple? / STd Hg¥{g A Iy wfeR W= gHar fean T,
I JHY ORI BT TP B UT?

1. Bhim Dev / 811 ¢a

2. Mula Raja / HeIl ITS1T
3. Siddha Raja / f&g =TT
4. Kumar Pal / A el

Correct Answer :-

« Bhim Dev/ /& &g

3) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty? / ﬁ'ﬁﬁl’@ﬂ -k | Gﬂﬁﬁ

TS} 4% &b Yewg AT TS BT HHERT HI AT 82
1. Gol Gumbaz / TTIdl TTaS]

2. Juma Masjid / SITHT HI&TS

3. Taj Mahal / IToTHEd

4. Qutub Minar / $dd HIHR

Correct Answer :-
+ Gol Gumbaz / TTI¢T THS]

4) _______inthe Constitution set forth the humanitarian social precepts that aim at social revolution. / GICEIRE:] 3

mmmﬁﬁmmmmmm%
1. Right to Equality / FHTAaT &7 SR

2. Right to Equal Protection / FAT TI&TUT &l 3fAHR

3. Right to Education / fv&m &1 3if&R

4, Directive Principles of State Policy / T5a & Aifa A& dca

Correct Answer :-

 Directive Principles of State Policy / 5T & Hifg Réad aca



5) The test that predicts the performance of individual in a particular field is: / QHT TT\&&I'UT <1 foreft famiw 833[ Aafaa s
WS &1 qaiga &l 8:

1. Diagnostic test / #gIfeied TI&TOT

2. Prognostic test /E[EITF_PTH gy&Tor

3. Achievement test / 3UaI{ed TII&TOT

4. Teacher made test/ A& gRT fohar aram gdafor

Correct Answer :-

« Prognostic test /qaTegTe gr&Tor

6) Which among the following correctly represents the Honduran Emerald? / feafaf@da H A Fle @ iﬂg’ﬂﬂ' THAITes
FT FE AWE ¥ ufar 2

1. A beach in Honduras / §ig3rE & Teh HIg dc

2. An endangered bird of Honduras / %‘?@TIF &l Uch o[aurd gat

3. An ore found in Honduras / %ﬁ}}?lﬁ A U7 ST arell U 3D
4. An island in the Atlantic Ocean / 3fcdifc® HENEIR H U& g1U

Correct Answer :-

« An endangered bird of Honduras / 'f‘fl§'{'l'\‘:f &l Uch o[aurd gafr

7) Pohang Iron and Steel Company is from which among the following countries? / faFafaf@a H A NEHT IRRA U
e Fueht g qor @ &2

1. South Korea / &feyor spif=m
2. North Korea / 33X sifiar
3. China / @1

4. Japan / SITdTT

Correct Answer :-

« South Korea / &f&T0T BT

8) Hubbert peak theory is related to which of the following? / gea¢ &R Riguia Aw=faf@a # ¥ Fad wefta &

1. Currency Trade / gl SIUR

2. Petroleum / Ueiforga

3. Metabolism / IITTIT

4. Nuclear Energy / UIHTY] ol

Correct Answer :-

« Petroleum / Ugiforgd



9) Who is the administrative head of Prime Minister’s Office? / TETAHAT FRATT F TR EI'JI@' FiaT %?
1. Prime Minister / TTAHAT

2. Principal Secretary / U7 =g

3. Cabinet / ARHASS

4. Cabinet Secretary / FAdAsS @Ra

Correct Answer :-

« Principal Secretary / U gfaa

10) A type of evaluation which is used to improve and monitor the progress of students and teachers is: / Th YR

F1 Heaidha §, S oEl 3R Rarwl f garfa #F gur ik o F e fer smar #)

1. Formative evaluation / TdATcHS Hedidhd

2. Norm-referenced evaluation / HId HETHd Hedidhed
3. Summative evaluation / TTcHS FHeaATdhd

4. Criterion-referenced evaluation / #ATIes TefAd Hedidhe

Correct Answer :-

« Formative evaluation / TdelcH® Hedlhe

11) Mind is a ‘Tabula Rasa’. Who said this? / #Ad TH ‘AqeT @ (Tabula Rasa’)¢ 9§ fras @gn
1. Immanuel Kant / $HTIUTS &I

2. Michel Foucault / fHRIeT Gehl

3. Friedrich Nietzsche / h8Xeh ATear

4. John Locke / STl oIfdh

Correct Answer :-

« John Locke / ST oIih

12) Before Ashoka became Mauryan king, which province did he serve as governor? / & ®I¥ = a9 & Ugat
e via # TSI & ® A F w2

1. Taxila / T&TfRYeT

2. Vaisal / ai$8el

3. Pataliputra / U'IE?ﬁ'g’:[
4. Ujjain / 35oteT

Correct Answer :-

« Taxila / deTfrem



13) The First Factory Act restricting the working hours of women and children was adopted during whose time? /

A3t AR Toat & FO7 F gt F yAdOT FE T g FREEn AVRAIE FEF FET F v T 9
1. Lord Ripon / &f$ Ruer

2. Lord Lytton /@S forea

3. Lord Bentinck / @f§ dfeam

4. Lord Cornwallis / IS ahletdTferd

Correct Answer :-

» Lord Ripon/ s Roa

14) The term Isostasy describes: / 3{\-!1?-_!}!71' g et Y UTEAT FaT &
1. The state of disruption / fagea $r Tafa

2. The state of balance / H@T‘—k_—f &r feufa

3. The state of uplift / 3cdTaeT &1 Fafa

4. The state of subduction / fAFaT@er Hr Fufa

Correct Answer :-

» The state of balance / Q:@T‘—Ff &1 eufa

15) The song ‘Amar Sonar Bangla’ written during the Swadeshi Movement of India inspired the liberation struggle of
Bangladesh and was adopted as the National Anthem of Bangladesh. Who wrote this song? / #Rd ¥ Taeelt IR &
s @ ot g '3 QAR FivdT A TRAEReT & A F FuY ) ARG HFar 3K 5@ gvaRy F AT I
& ¥ # Ivaman A 9% Ma e o @2

1. Michael Madusudan Dutt / HTgehel AYLH
2. Mukund Das / #&& &
3. Bankim Chandra / IfhaT g

4, Rabindra Nath Tagore / IfdgaTy ¢aTR

Correct Answer :-
« Rabindra Nath Tagore / TGt IR

16) The coral reefs are the marine counterparts of which of the following? / ¥arer &er Afora, Aeafaf@a & & fradr
Tapdr wfoaer 82

1. Savannahs / ZSUThReTN ©TH He (FaTaT)
2. Scrubland / &jq?l{@f (Thaels)
3. Temperate forests / THMATSOT Tef

4. Tropical rainforests / Ui edey auf.aq

Correct Answer :-

« Tropical rainforests / Ui ede auf.aq



17) The Head Office of Export Promotion Council for Handicrafts (EPCH) is located at? / ey At HataT IRwg
(Fhehee) F1 FEATET o ua

1. Delhi / f&oolt
2. Jaipur / STIYY
3. Varanasi / aRTOTHT
4. Kolkata / releprdT

Correct Answer :-

« Delhi / f&oell

18) Ajanta Paintings represent the scenes from: / oar & R A & Teal #) g %
1. Jatakas / STeRTT

2. Mahabharata / AGTHRT

3. Ramayana / JTATIOT

4. Upanisads / 3Ufvg

Correct Answer :-

o Jatakas / STpTdl

19) Which one of the following aroused a wave of popular indignation that led to the massacre by the British at

Jallianwala Bagh? / Rraifaf@a & & 5@ & o a=fw srwer @ a5 dar w1 § wd sror 3@+ @
SIferTaTeT AT # ATHER FIT?

1. Government of India Act 1919 / AIRA PR ATAAIH 1919

2. The Rowlatt Act /& JelC TeFE (cBTell Plef)

3. The Arms Act / 3 3fAfaa#H

4. The Vernacular Press Act / W 0" TeT

Correct Answer :-

« The Rowlatt Act/ & Jole TFe (hTell el )

20) Which one of the following is not a method used for the assessment of personality? / Saf@dca & HTHelsl & faw
3T $ I arel R AR d F sl @ A

1. Project method / TAerer fafer

2. Projective method / ey fafe

3. Objective method / ZN-_c_l:ﬁ'B' afea
4. Subjective method / IcAfAs fafa

Correct Answer :-



« Projective method / verdy fafer

21) Which is not a third Century BCE stupa? / fra{l eraredY §ar 1]3:1' &1 &9 FleT AT gt &2
1. Dhamek Stupa / 9TH& FU

2. Kesaria Stupa / HERIAT T[T

3. Amaravati Stupa / 3{FTGA FJT

4. Sanchi Stupa / it U

Correct Answer :-

« Dhamek Stupa / 4THe EU

22) Which is not a structure in the premises of Qutub Minar? / Fq9 AR & oW # Sia @ gw=@ar 738 2

1. Quwaat ul Islam mosque / Pedd el FEITHA FAfESE
2. Alai Darwaza / 3-1?41%’ cXdralt

3. Aibak’s Magbara / Udds &l HpaT

4, Tron Pillar / g T GHT

Correct Answer :-

« Aibak’s Maqgbara / UdIch T HBaRT

23) Which is the first Biosphere reserve in India? / HRd & Ugell IRIFHRRY Rod (W@ SlawAge) sia ar §2
1. Sunderbans Biosphere reserve / W TARBRR o

2. Nilgiri Biosphere Reserve / =ﬂaﬁ?°r W W

3. Nanda Devi Biosphere Reserve / a1 é_cﬁ TP fod

4. Gulf of Mannar Biosphere Reserve / HAR Gl E'I_Eﬂ IaferaR Rerd

Correct Answer :-

« Nilgiri Biosphere Reserve / TR sfep Rord

24) Which Gupta king contested the Huna according to Bhitari Pillar Inscription? / fRerly Tasr Reme@ & IHTER
v e Te @ g & AT wud frar v

1. Samudragupta / HHGICT

2. Chandragupta 11/ EI?FIIWT 11
3. Chandragupta I/ W I
4. Skandagupta / WUIW-T

Correct Answer :-

« Skandagupta / W?IVCT



25) Which of the following is metamorphic rock? / Fafaf@a & ¥ FrERa geerd @i 'Y 3
1. Marble / TIEAER

2. Sandstone / Sef31T UcAX

3. Mica / 3HP

4. Schist / e

Correct Answer :-

« Schist / f&Fe

26) Which among the following was the last European country to rule Goa? /
farafaf@a & @ aar | awe & aren sifaw b S Fia @1 an
1. Netherlands /:ﬂa?ﬁ"s'

2. England / 708

3. Portugal / ‘i_ci'tl'l'l?f

4, France / I

Correct Answer :-

» Portugal / ‘3?-‘17111?-[

27) Which among the following is known as “Coffee Port” of the world? / RFafaf@a & ¥ F¥ Mg & “Frfr &’ &
T H ST AT 2

1. Santiago / dfe3man

2. Santos / e

3. Rio de Janeiro / T & S0
4. Buenos Aires / sg18 I

Correct Answer :-

« Santos / g

28) Which metal was unknown to Harappans? / e ¥ 4T & §599a1 AT 47
1. Bronze / B

2. Silver / Tald

3. Copper / raT

4, Iron / Fﬁ'f‘-'

Correct Answer :-

« Iron/dliE



29) Which Constitutional Amendment Act removed Right to Property from the list of Fundamental Rights? / &
waufas e sfafaas o wofa & e it Aifts sfert & 3= ¥ g far

1. 42nd /429

2. 415t /417
3. 46t / a6d
4. 44/ 443

Correct Answer :-

o 44t/ 443

30) To promote equity in agriculture the government had introduced system where the maximum size of land which could be
owned by an individual is fixed. / F/ ¥ frsqarar #t em@m &7t F AT WHER F worrelt & #r o, fwd v safFa qEn
waftga #fA F1 JWFaw IFR g T

1. Land ceiling / 51/ &fefr (s o)
2. Land reform / {f# U

3. Land Parcel / ff&1 ureier

4. Land fixation / §f& faufRor

Correct Answer :-

o Land ceiling / §f& @i (g @ifei)

31) Second five year plan was popularly knownas ./ g voadly dioen & def7 ®@ #____ & a7 & F=T AT Al
1. Gandhian Model / STy #Aisel

2. Nehruvian Model / Sg%ardy #Arsel

3. Mahalanobis Model / FeTela e Az

4. Harrod-Domar Model / ¥R3-819R #AlseT

Correct Answer :-
« Mahalanobis Model / FgTelalad HAisel

32) Match the educationists with their contribution. / RI&TIIGT FT1 3T+ AeeT T e I



Educationists Contnibution

a. Lev Vygotsky/ Toig i. Project Method / Wisige
arsaiicad! fafer yaRar==r fafEy

b. BF. Skimmer/ &1 ii. Constructivist Learning /
— ToER! 3T

¢. Kilpatrick / m iii. Jurisprudential Inquiry /

fateemes gadt A=

d. Donald Oliver & James P. Shaver | iv. Programmed Learmning /

Ay

1. a— (iv); b — (iii); ¢ — (ii); d — (I)
2. a—(i); b (ii); ¢ — (iii); d — (iv)
3. a— (iii); b — (ii); ¢ — (iv); d - (i)
4. a— (if); b— (iv); ¢ — (i); d — (i)
Correct Answer :-

e a—(ii); b (iv); ¢ — (i); d — (iii)

33) Which is the process of assessing the progress of learners by identifying areas of difficulties through diagnoses and remedial
actions as part of the instructional process? / fA&eca® 9fFar & R & w0 & A 3R sTARCAS FET & Aeaw ¥ Ffeaat &
&t i ygETeT FF RN i garfa F1 rFdedT FA A gfmar w71 82

1. Summative Evaluation / A\cHd HedThe
2. Final Examination / 3ifcer odrem

3. Integrated Evaluation / Thiepd FHeTehe
4. Formative Evaluation / f@ToTcaes fgaide

Correct Answer :-
« Formative Evaluation / f@ToTcae Heaidhe

34) Which is the forest conservation movement in India where local people prevented the cutting down of trees? /R & HiaT @ aef
WTETOT et & T8l TR ol 9Et & e @ AFha 82

1. Bhoodan movement / gl 3arelel

2. Cooperative movement / gl 3Tgrelel
3. Consolidation of land / #f @T wehlehor
4, Chipko movement / fage 3tieter=

Correct Answer :-

+ Chipko movement / fIge! eree

35) Which of the following is the correct psychological way of proceeding in Social Science teaching? / fA=afaf@a ;@ T
o e Retor & 3mr 9 &1 3RT Aaaes ader §?

1. Difficult to Simple / HfdT T T



2. Concrete to Abstract / 3 ¥ 3
3. Unknown to Known / 3111 & AT

4. General to Particular / 9T ¥ fafy

Correct Answer :-

« Concrete to Abstract / Hd & 3d

36) Which among the following is an example for non-institutional credits? / Awifaf@a & ¥ sa @1 R-vrywPET @ & QT vF
JETET §?

1. Regional rural banks / &3 gmefior &
2. Nationalised banks / TG &
3. Moneylenders / HTghR

4, Cooperative banks / TR J&

Correct Answer :-

» Moneylenders / HIgHR

37) Which among the following is a non-conventional source of energy? / RFfaf@d & ¥ Fla @1 FaT 1 & R-WREET @ §?2

1. Natural gas / Urpfde g
2. Petroleum / Qeiforat
3. Coal and lignite / e 3R foaEse

4, Wind energy / 9aa Zsil

Correct Answer :-
 Wind energy / 9aeT el

38) Projective techniques are used for the assessment of one’s JFEH TE F & W F faw
WeifFea awlPl FT TR FAr Far P

1. Development / TR T
2. Personality / S fthca
3. Growth / Jfg

4. Intelligence / g@'

Correct Answer :-

« Personality / Safthca

39) is a policy which aimed at replacing or substituting imports with domestic production. / w Aifa § S
355 HATA F1 W 3cUeA § WaenRa F@r a1 agete g

1. Balance of trade / SATAR HJelel

2. Balance of payment / 39TclTel Hlelel
3. Export reduction / f&afd =gzaor



4, Import substitution / 3T UfaEama=

Correct Answer :-
« Import substitution / AT gfATATg=

40) observed that ‘Social Sciences is perhaps the singular curricular area which can prove to be the most effective tool for
providing education in the context of all the core components envisaged by National Policy on Education.” / F g R

g e, ae vHe aew & ¢ S R w wsd Afy garr aREfeua weft ew gewt & dedt A R vor F F owed
waTdl 3YFIOT WA 8 W g1’

1. National Curriculum For Elementary And Secondary Education (1988) / wafdies 31k sreafdes fam & fow Ug arsassa (1988)
2. National Curriculum Framework (2005) / g1 ursg=ral &1 &@r (2005)
3. Secondary Education Commission (1952-1953) / @reafdies fram 3maer (1952-1953)

4, A Framework of NCERT (1975) / TaA®S$3RET T Teh ®Uk@T (1975)

Correct Answer :-
« National Curriculum For Elementary And Secondary Education (1988) / mrafaies 3R ameaferes fam & forw Ugy aroassa (1988)

41) Who said that, “The United Nations was not created to take humanity to heaven, but to save it from hell.”? / fFast Fgr &,
"HYFA TSE ATAAT F FH H F T F AT 7@ a0 T4 9, qfeF s/ WE F IO F AT g w2 ant?

1. Dag Hammarskjold / 97 RT3
2. Antonio Guterres / TeIfaaT [ed
3. Boutros Boutros-Ghali / g3 garg-aTel

4. Ban Ki—Moon/ d & - &

Correct Answer :-

 Dag Hammarskjold / 397 §oREies

42) Who was the first Indian to be the Governor General of India? / ¥Rd & HERISIITA (FGe} FAATA) Folat dTd gl HRAT HieT
¥

1. C. Rajagopalachari / &Y. Jrsmnurerary

2. Fakhruddin Ali Ahmed / FETEIT 3Tel 3edC
3. Lal Bahadur Shastri / el SigTgy Qe

4, V.V. Giri / dr.dr. @Rk

Correct Answer :-

+ C. Rajagopalachari / €. T=eigrerany

43) Who upheld the view that religion can never be separated from politics? / F8a 38 TREHIT F1 TR @I F 47 F oS I
F3Y 3rerer AT fRaT ST Wehar?

1. Dayanand Saraswati / &3Teig, AT
2. Raja Ram Mohan Roy / I<TT I& #Aleed I
3. Gopal Krishna Gokhlae / 9iaTel 50T IM@el

4. Mahatma Gandhi / Fgrcam ey



Correct Answer :-

o Mahatma Gandhi / Fgrcam ey

44) The process of transferring the income from asset owning people to non-asset owning people is ./ afRwafa & mfas e
# A oREuly & raface g a3 TETART F N giH- gl

1. Vicious cycle effect / g&sh JHTT
2. Trickle-down effect / TUdha Rgled (feher-a3a woma)
3. Balanced growth strategy / Sqford gfg IoTelifal

4. Lorenz curve / el %

Correct Answer :-

o Trickle-down effect / eudhel Rgled (fedha-313 warma)

45) The Members of Parliament are free to raise any matter that they think is important during ./ ¥ R Tue
¥ gy frdlt off 3@ AT A 3o F AT F@AT g § N 37 d9rar § B Agcaqor 2

1. Question Hour / U4ThTel
2. Adjournment Motion / I Y&
3. Half -an-hour discussion / 3T9 €¢ &Y BEIl

4, Zero Hour / [T hTel

Correct Answer :-

o Zero Hour / eI

46) Which among the following rivers is most described in the Rig Veda? / f&ifaf@d & ¥ i &t &t mede & @@
sfaw afeta 2

1. Ganga / I

2. Sindhu / %‘3;1;

3. Saraswati / HIFIAT
4. Chenab / REmE

Correct Answer :-

« Sindhu / ﬁfg

47) Who among the following is the author of “Ain-i-Akbari”? / fFIfaf@d & ¥ “INSA-T-IHFa” FT AG@F FieT 2
1. Ishwar Das / $&T &

2. Abul Fazl / 3Tdel HaTel

3. Mulla Daud / Heell ST5¢

4, Akbar / 3heT

Correct Answer :-



 Abul Fazl / 3¢el Halel

48) is a system where by the farmers pool their milk produced according to different grading and it is processed and marketed
to urban centres through cooperatives. / o Wt qaeT ¥ Sl AT sreer-arerer Aol & IR 9 Jeurfed gY HT HAGOr
R ¥ 3R 3@ werrd AR & Areww @ TR va awd Fel & Ay Far aar @)

1. Operation Mantra / 3T T
2. Operation Torrent / TR ele
3. Operation Serve / 3O T

4. Operation Flood / 3T FeIs

Correct Answer :-

« Operation Flood / 3T Fels

49) Which of the following banks installed the first ATM in India? | Aefafaa TadgdFsaaa & gl TdeA TUifRa fFam
1. ICICI / 3TSH3TSE3TS

2. HDFC / Ta8iusEy

3. Yes Bank / 39 &

4. HSBC / TawaaEl

Correct Answer :-

« HSBC / Taugedt

50) The Road Back to Nature is a book discussing the global ecology and destructive farm practices. Who is the author of this book? / ??3'

% g Favatys RIS iR RAer $i usfd w uf 3 38 e (W 21 59 (W6 & a9 S 82
1. Bill Mollison / forer #iforas

2. Albert Howard / 3ed¢ &as

3. Eliot Colman / TfoRIT dfedd

4. Masanobu Fukuoka / AHTHIg B 31T

Correct Answer :-

« Masanobu Fukuoka / TIFIIg B3N]

51) The learning strategy which is associated with 5 E’s (Engage, Explore, Explain, Elaborate and Evaluate) model is: /

SRR I <1t 5 § & A1y J$1 g3 § (T, =auvT, 3, AR iR geuie ) disd §:
1. Constructivism / FRTTETE,

2. Social inquiry model / HTHTSH TSATS e IEC

3. Branching programming / M@ YIS

4. Team teaching / €T fA&ToT

Correct Answer :-

« Constructivism / TIIATAG



52) The process of collecting, analyzing, recording and interpreting information about student learning is known as: /

BE & AT P Uy & IHER Thd 39, Awaftd o313, Rels s iR fad== s &1 ufshar &1 A= w1

SITdT %:

1. Role play / RUNAY]

2. Assessment / 3{Th ¢l

3. Testing / TReor

4. Dramatization / ACHIT TUAR
Correct Answer :-

» Assessment / STh AT

53) To choose appropriate teaching strategy, the teacher considers which of the following factors? /

Sugad Rreor Toritfa g9 ¥ fore, Rrere Fafafae & @ fra oRe w® faar swar g2
1. Sports/cultural days in the school / Ffel & @?‘T/F@ﬁ'ﬂﬁ feaa

2. Visits by inspecting authorities / TAI&T0T 3TAFRAT gRT HFOT

3. Abilities of the learners / TU&TTIAT &1 Fogard

4. Year Plan given by the school / fa@Terd gRT & 918 a¥ Irsfarr

Correct Answer :-

« Abilities of the learners / TRUeTfdAT Hr FeTard

54) The term “brainstorming” was first coined by: / X "fAaR-HYA" TG Ugd §7d GRT g fopar T ot

1. Osborn / 30 gt
2. Johnson / SAfad=
3. Caldwell Cook / @lesdel GHeh

4, Bruner / e}

Correct Answer :-

« Osborn / 3@l

55) Idealism strongly promotes: / 3(TeRIdTg Tedl A1 & S¢T4aT &aT 8:
1. Source of knowledge is nature / Upfd I &1 AT &l

2. Senses are the gateways of knowledge/ HIGaATU FAT &1 R B

3. Axiological belief in absolute values / HEUT' 11?@1 o Sfryrard] fayra
4, There are many truths as there are many paths / CERE| g Fifp CERIES| gl

Correct Answer :-

. Axiological belief in absolute values / TqUl Jedi # TRITaTC! fayT



56) To attend the individual differences in the class, what should the teacher of Social Science do? / F&fT & =g
IHR B FHES F QAv, genew @A F1 R -

1. Uses variety of learning experiences / Tdfdeel 3TTTa 3-1@3@ HI STINT HLAT &l

2. Gives different types of assignments / AT UPR & WIE?DTC’ (fA&ar) ear gl

3. Conducts tests end of the week / HdIg & 3iad & udieqor I3mfSa Har %l

4. Makes sure all the students are present everyday / Ig mﬂ’ FAT & Top Tl B9 & AT 3uRAT o

Correct Answer :-

» Uses variety of learning experiences / ffea 3fora .ﬁcjd-ldi DI SUITIT Al %-'l

57) The teacher shows photo copies of the letters written by Mahatma Gandhi while teaching a lesson on the struggle for
Independence to: / RI&Te FacaT HUY W 9IS Ygid §U AgTeaT e arT f@ 1w wal iy wrey Fiat swfaw
fe@mar 2:

1. Supplement the concepts with facts / T2l & TTY HTYROMN Pl Szl & forw

2. Adopt deductive approach / ATaTcH® Tf¥@IOT 3UaE & ow)

3. Use problem solving procedures / THEAT FHTUTA UThATHT T G ol & forv|
4. Execute a project / TRIAISTAT (Wieide) & Asarfied ot & forw

Correct Answer :-

« Supplement the concepts with facts / TZIT & TATY ITURUNAT &l A & o

58) Who set up the Indian Independence League? / HRAT Taaadl o1 fFasr g #r
1. Dadabhai Naoroji /Wlﬂﬁ:ﬁﬁ

2. Rashbehari Bose / Tmﬁ%‘lff |

3. B.R.Ambedkar / &1.31R.3{d5e

4. Mahatma Gandhi / HgT&T et

Correct Answer :-

« Rashbehari Bose / TTdeRT ag

59) EBP stands for: / Sd1dl &1 faga ®u 8:
1. Evidence Based Practice / tfaseg a&s IfFeq

2. Evidence Based Problem / Tfds=d ¥ lecid
3. Education Based Practice / Tgeheid ¥ dfFed
4. Education Based Problem / Tgehelel 98 Ufeeld

Correct Answer :-

« Evidence Based Practice / tfas=g &= faeg



60) Density of population is computed by which of the following method. / STHSAT ¥ g9 ot AT A # A fe fafy
ERT &1 AT 3|

1. Female population divided by area / &9%el gRT faoTiaid Afeen Saaear
2. Male population divided by area / &Fthel gRT TTHITST gey STaEdT

3. Area divided by total population/ &el SaaEar grI famfaa eawe

4. Total Population divided by area / &9%el gRT faefaid $ol AT
Correct Answer :-

« Total Population divided by area / &9%el gRT faefad Pol SAGET



